Double Angle Formuias

Pre-Calculus — H w K? Name

On notebook paper, work out each problem. For #1 - 6 circle your final answer.

1. Find the exact value of each using a sum or difference formula.
S5t
a. Sln193 b. €075 C
sin(150°45") : o530 32)- ms(zﬂ)
= o8 I<T sm 5"
Sin/SH c‘aﬂ‘g + C&[ 0 = cos ILCQ‘?I __Smj_g

2. Find SIN2x given secx; 2 when x is inqGadrant IV, |
) _ ad| - T
Seex=d vheans t:‘tisx:---",,g’-"ip SC opp=V3

s A,

Sindxe D Sinkeasxs 2CE YA\#‘T“ \

1,!

Ces 2 X= CCS X -Sin’ 51 {n r‘f‘ o

4 Find taN2X given CSCX =4 4nq tanx < 0 N
Cg(-x:[{ mears DN A= "';"“ ’.ﬁf‘ga 'f:?'»’j‘. =is :)r_
‘_ & ] 5 - a0
2dank _ afyE) | = o 232
Tanlyz oo r s B, YE® Ty
wx |-bHF TL 3
5. Find tan2x given cosx —3“-, % <x<n. B2

CoS K= "‘"—"L IOW ar <‘m1g:-§-
2dwx _ AF) _ A . 3k
‘fan SPx - ST 3R
/6

'—+¢n K /-( )
6. Find Coszxgwensecx—'rﬁ,g<x<n Qa
=2

Qccx;'% mcarS (SR> _Fs," ,,,7‘, So 0‘50”

ok A N M
Ce8 R= Cos X -s}n°x= (—"fg? "(rg-\,' = S

7. Verify the identity.

COS(X ~7) = —COS X
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